Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-VI « EXAMINATION - SUMMER 2013

Subject Code: 360609 Date: 17/05/2013
Subject Name: Advance Transportation Engineering

Time: 10:30 am TO 01:00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1 (a) Write down characteristics of road user and describe PIVE theory.
(b) Explain the fundamental diagram of traffic flow.
Q.2 (a) Find out the tractive force from following data.
Mass of vehicle = 1800 kg.
Co efficient of Rolling resistance = 0.018
Co efficient of Air resistance = 0.385
Speed = 15 kmph Acceleration 3.9 m/sq.sec
Gredient = +1.01 Front area of vehicle =2.28 sqm.

(b) State the vehicular characteristics and explain static characteristics.

OR
(b)  Write down formula for following.
- Rolling resistance - Grad resistance
- Air resistance - Transmission losses

Q3 (a) 1. State the requirement of good harbour.
2.Draw the line diagram of harbour showing it’s parts
(b) Classify the harbour on the basis of it’s utility and location.
OR
Q3 (a) 1. Define following terms
- Direction of Wind - Frequancy of wind - Intensity of wind
2. Write short on Tide producing forces.
(b) What are the purposes of Transit shed, Ware houses and Cold storage
buildings.
Q4 (a) Draw the neat sketch for Aero plane showing it’s pats and explain any one.
(b) List the Aircraft characteristics and explain size of aircraft with neat sketch.
OR
Q.4 (a) Write short note on
1. Weight of aircraft 2.  Minimum turning radius
3. Minimum circling radius.
(b) Explain the terminal area in detailed.
Q.5 (a) State the various methods of Origin and Destination survey and explain any

one.
(b) Write short note on
1. Wharf 2. Quay wall 3. Collision diagram
OR
Q.5 (a) Draw the lighting lay out for Runway and Taxiway
(b) 1. State the causes of beach erosion.

2. Why it is necessity of costal protection work?
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